[bookmark: _GoBack]The reading states that there have been several theories about the explosion in the Tunguska region of Siberia, Russia, in 1908, the most probable of which was a tremendous methane gas explosion. However, the lecturer disagrees and claims an asteroid entered the Earth's atmosphere and exploded above the Earth.
The first point the reading mentions is that there has been any evidence that has shown an asteroid impact since asteroid rocks have iridium and nickel, which would be easily detectable, and nobody saw an asteroid streaking across the sky. On the contrary, the professor asserts that an asteroid exploded before it was a collision with the ground, so there was not any evidence of an asteroid impact. Moreover, no asteroid rock and other material have been recovered because they washed away before scientists arrived.  
The next point brought up is that although a lake was the collision crater, according to some people's belief, researches have illustrated that material at a lake bottom was at least 5000 years old and also 50 kilometers wide forest devastation was affected by a methane explosion. However, the professor first claims that trees in 50 kilometers wide forest lost their branches and bark. He next declares that the explosion devasted the forest in a unique pattern in 50 kilometers wide.
Finally, in contrast to the reading’s argument that high densities of methane gas accumulation underground was released by humans or naturally and then this led to methane explode so, many trees were burnt, the professor says sheer methane gas needed for such this explosion and the volume of gas was not enough. He then claims that the methane gas explosion led to creating fire, while there was no sign that trees in the forest were burnt by fire.
